§ BRI AARN PDE EE
B RUEFALEE Q1 Dirichlet #43 I[u] = [ [Vuldx » EHIE BRI U| 0= 9 (9

SR 2 w R MESKI > A u 7EQ PISIEE Liaplace equation
Au=0 - Y -

i u & Dirichlet F oAV IMERIEL » (FHL—HEE ¢ € Cy () - HAF 0Qff4T
Ju+ed]= _UV(U +eg)[ dx =jQ|Vu +&Vg[ dx = J’Q (Vuf +26Vu-V g+ &V )dx
PRIRS u A MBS > & & = 0B functional J[u+eg] FEEFIR/IMHE » —P&#
-0 aﬂia[mgm

5:0:0
d ¢ d 2 ) 2y g 2
L+ eg]= jg$(|w| +26VU-Vg+5° V[ )dx = IQ (2Vu-Vg+2¢|Vg[ )dx

;—gJ[U+5¢]

o= jgzw.wdx:o for V¢eCl(Q)
ou O
L}Vu-V¢dx=—J‘Q¢Audx+LQ¢%ds Green THET

=—[_gAudx =0 (B g| o= 0)EIFTAIT ¢ L > FFELAU=0



